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* Basic concepts .

Computation of Income & Tox)



- 20 ,84 , 940

- 57 , 64 , 720

- 1 , 40 , 53 ,000

- 2 ,82 ,43 ,100

-> Ups 288B
Tou liability -> Roved off Multiples of 10

2,82 , 43 , 098 -> 2 ,82 ,43 , 100



S bat in ife Surch = 10%

Surch = 15%.
↑

Surcharge Unde New Regime
Total Income Rot

& upto 504 NIL

2. > 501 but up toI 10%

3 > 10 but
up to zw 150/

Y T1 other than LTC4 112/112A , STE IIIA & dir . Income

excee ze



1ill 112/1127 , StC IIIA 2 dir . Income -Tox us 15%

otherIncome - Tox & 25%

Hot ! T > 20-Reason Lily 112/112A , ST IIIA & dir . Income

*

Only 15%Surch : Is applicable

Oer Mr .x R + 65yr
-

· T = 6 Vore recluded 50L licy up 112/152 stay of IIA)
-Calculat Tox lasilly As pu New Regine (Default)-

You on M1 (60-654) : 5.350 & Slas rot

First 32 MIL

Next31 & 5% 1 5000

Meet 32 & 10% 30000

Next32 & 15% 45000

Ment 31 & 20% 60000

Tax on 154 150000



Bolonce 5 , 20 ,00 ,000 & 30% 1 , 56 , 00 ,000 -1
,
54

,
50 ,000

Toroe (TC4 112 502& 20% E 10 ,00 , 000Tox or Sily IVA 152 & 15% 2
,25 ,000

Tox before surcharge 1 , 69 ,75 ,000

↑ surch & 25% of 1 ,57 ,50 ,000 39 ,37 , 500

surch of 15% of 12 , 25 ,000 1
,83 ,750

2
, 10 ,96 ,250

t 400
-

↑x lasikly - 2
,
19 ,40 , 100
-
--

eq is of Mr . X R+ T5yr is $2 ,90 ,00,000 Including Cicl 112A 50L
& sill IIIA 601 , lasual kcom = 15 ,00 , 000)

Calculate Ton liability As pl New Reyme
TI 2 ,90 , 00 ,000

I

t t to to to

Lice 112 DIV . Income LTLIZA STLIIIA other Inc .

- - 50L GOL 1 SOL



Tox or M1 165L & Slab rat

Tox On 154 1 ,501000

↳ a 1502 & 30% 45 ,00 , 000 46 ,50 ,000

Tox on ITCM 112A (501 -Ins& 10% 4 ,90 ,000

Tou on sily IIIA 602& 15% 9 ,00 ,000

Tox on losod Income 154430% 4 ,50 ,000

64 ,90 ,000

↑ Surch $15% 9
,73 ,500

74
,
63 ,500

tu'll
--

Tox liability 77
, 62 ,040
--

--

eq TI = 90 ,00 1000 /led . (T4 112= You , sil 11 A= 10L) Calculat
Tou liability As pu Muo Reime R+90yr

Tox on M1 of HOL
First 154 1 ,501000

bor 25293001 7 ,50,000 9 ,00 ,000
Ton or cily up 112 You& 20% 8 , 001000

Tox on STE 1117 102 & 15% 1 , 50 , 000



18 ,50000
1

+ 10%

20 ,
35 ,500

+ 4%
--

Tou liability-
2 1 , 16 , 400
--
--

MARGINAL RECIEF /Very Interesting)
* If due to surcharge or Highl rate of surcharge
* Increase In Taxe is More than Increase In Income

* Then Marginal Relief is groeky before Applying HEC

Marginal Relig = Increase in Tox-Increase in Ecome

Unual
-
- MORINUM Ton =1%, (ecome se zyada Tox Mani no

- Saktal



T = 50,00 ,000 RtHoy. T = 51 ,00 ,000

Tox As pee old Regine Tcs As pu old Regime

First 10 ,00,000 1 , 12 , 500 First IOL 1 , 12 ,500

Bol 401 & 30% 12,00,000 &Of 4/L & 30% 12,30 ,000

13, 12 , 500 13 ,42, 500

↑ surcharge - -> surcharge& 10% 1 ,34 ,250

Tox before less -> 13 , 12, 500 Tax before less 14 ,76 ,750

&

(r) M .Re 64 ,250

Increase In Tox 1
, 64 ,250 14 ,12, 500 ·

1476750 - 1312500 - 4010

Inc . in Income /511-502) 1 ,00 ,000 Tom lability- 14 , 69 , 000
-

Marginal Rely --

Inc . in Tac 164250

↳ Inc . In lecone 00
64250
-
--



es--

Calculate ice liability If T1 = 52 , 50 ,000 /As pu New Reyn)
R+ 554rs

Working Mot
Ton on 52 , 50 ,000 As pu Muo Ry Tox on 501 As pu New Reme
First 3L MIL First 154 150000

Next 32 & 5% 15 ,000 1c 35L & 30% 10 ,50 ,000

Mint 32 & 10% 301700 1 2 , 00,000

Meet 32 & 15% 45000 + surch -

Next IL& 20% Grow 12 ,00 ,000

Balance 37 .502& 30% 1 1
,25 , 000

-

12 ,75 ,000 Inc . In Income 2
,50 ,000-

-

↓ Surch & 10% 1 , 27 ,500 Inc . Il Tas 2 ,02 ,500

1 4 ,02 ,500 1402500-12,00 , 000

I Marginal Relic -

1402500 MO Margleal Relig As Inc . In Tox

In+Y'l less than Inc. = Income
--

1458600
--

-- -



eq MrX TI = 1 , 02 ,00 ,000 Calculat Tox As pu old Ryine
R+ 75 yrs

Tax on loza

Tox or Ia

first 3L MIL

Mext 22 85% 10 ,000 First 10h 1 10 , 000

Ment 54420% 10 100,000 ↳a 901 & 30% 27 ,00 ,000

Tox on IOL 1 ,10 ,000 28 ,10 1 000

bal 921& 30% 27 , 60 ,000 ↑ Surch . 410% 2 , 81 ,000

28 ,70 1000 30, 911000

↑ surch & 15% Y ,30 ,500

33 ,00 ,500 Inc . in Tox 209500

FM Reli 9 ,500 133 ,00 ,500- 30 ,91 ,000)
32 ,91 ,000

-

+ Will Inc . in Income 200000-

-

3U , 22 , 640
- Magical Melly 9 .5 no-

Inc . ie Tax Is more than Inc . In
-

- Income
-

> Dar - = 25%- Bar
=>>



Til = 5 , 04 ,50 1000 Calculate Tou liability (Mr .X+ R+85yr) - 014 Rylme
E

--

Tox on first 54 NIC Tox or 58

Next 52 & 20% 100100

Top on 10L 1100 ,000 First L MIL

BCI 4 ,97 ,50 ,000 &30% 14925000 M12+ 5L 100000

r
1 ,50 ,25 ,000 Tax on IO2 1,00 ,000

↑ surch & 37% 55 ,59 ,250 30 4 ,90 ,00 ,000430% 1 ,47 ,001 000

2,05,84 ,250 1
,
48 , 00 , 000

↳ Marginal Relic (13 ,34 ,250) + Surch & 25% 3700 00e-1,91 , 50 1000

+ 4%

Tose lability
-> 2 ,00,20 ,000 Inc . In . Tox 2084250

20584250 - 19500000

Trc . In Income 750000
-

Relief 13 ,34 ,250



B[c = 2 .52
--

Bich 23L

Did 25





* Rebate Up STA = Imp

CA

*Company ~

FINAL 4* Hirm & Tox rate ↑ No Procu
=

* Co-opuative somely



Inter Iwel = Individual
-



2 Min Summary

Chapter Summary .






